Precalculus 5.6 —The Law of Cosines and the Ambiguous Case

Review: State how many triangles can be formed using the given information.
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When you know 2 sides and a non-included angle of a triangle, you may have
[ , or Z triangles. An easy way to see which situation you have, and to
solve the resulting triangles, is to use L O of CO5 W 5
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Examples: Determine how many triangles can be created, and solve each of them.
5) In AABC,a=22,b=12, msA=42°
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6) In AXYW ,x =4,y =5, msX =27°
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7) In AABC ,a =12,b = 31, m£ZA=20.5° B
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8) In AXYZ ,x =6,y =5,and msX =27°.
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